Řešení účetních případů

2. 	Odběratelé 		Aktiva –		D		22 500,--
	Běžný účet		Aktiva +		MD		22 500,--
	MD       Odběratelé      D
	
	MD        Běžný účet   D

	
	2.    22 500
	
	2.   22 500
	

	
	
	
	
	



3.	Pokladna		Aktiva -		D		14 000,--
   	Zboží			Aktiva +		MD		14 000,--
	MD       Zboží      D
	
	MD        Pokladna       D

	3.    14 000
	
	
	
	3. 14 000

	
	
	
	
	



4.	Běžný účet		Aktiva + 		MD		200 000,--
      	Úvěry			Pasiva +		D		200 000,--
	MD       Běžný účet      D
	
	MD        Úvěry              D

	4. 200 000
	
	
	
	4. 200 000

	
	
	
	
	



5. 	DHM			Aktiva +		MD		45 000,--
[bookmark: _GoBack]      	Dodavatelé		Pasiva +		D		45 000,--
	MD      Dodavatelé      D
	
	MD        DHM              D

	
	5.   45 000
	
	5.  45 000
	

	
	
	
	
	



